LABJNDuO triangle lightness T*
=L*w

nc™ nc=100,

T
T*L aBanDu9 =[IN[A 1n+A2nY)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=146,T* (18)=332,T*,/(90)=517

* 1
T*o=517.21, A, .760, ¢=0,43
T*15=332,22, /,,7 0. %07, A=0,§058
T3 =146, 1177 32,22 Y= 18.
=18

=90

application
ange
l
TlaYn=3.6

LABJINDu9
tristimulus value difference

YacmL*w  nc=100,
T*LaBaNDu9 =[IN[A 10+ A2 /(A 20A )] (Yn/100<Y<=Yyo)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dY0g=0,79, Ayr=1,500, G=0,42
dY;=0,16, A=0,007, Agn 0,005%
dY3 0,04 Y, 718, dY=0,1
T*,=332 dY,=0,16 dY/Y,

Iog(AY)
AY

1 application
range
'y,=18
Yy =90

Yn=3.6

log (AY/Y) LABJINDU9
tristimulus value sensitivity

SHEYY Yoc=L*w - nc=100,
T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agn[A 1+ AgYIIY

(dY/Y=0,0088, Ay=1
(dY/Y)=0,0092, A =0 ,AZ
(dY/Y} 0,0116 Yu=1& dY=0,16

0, O

log(dY/YF—2,03 m==&3g
-

T*,=332 dY,=0,16 dY,/Y,=0,0092
1

1

1Y,=18

Yw=90

r_jl)pllcation
nge

Yn=3.6

log (Y/AY) LABJINDu9
tristimulus value contrast

C=(VinY) e e o
T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dYp=113,39, A,=1,500, ¢=0,42

(Y/dY)g=107,58, A=0.007, A,=0,0058
(YIdY} 85,65 ¥,218, d=0.16

T*,=332 dY, Y/dY =107
s

log(Y/dY)=2,03 rm —0.0= 1
1 application
1 range
'Y,=18

1 Yy=90

TEIT

LABJINDu9 relative triangle lightness T*/T*,,

YocmL*w - nc=100,

T,
T*Laganbuo =[IN[A 17+A2nV)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#n(3,6)=146,T* ,(18)=332.T*(90)=517

T oqT*,=1,55, Apy=L,500, 6=0.42

T 0,007, Ar=0,0058

T* dT* =0, 43 T, _332 ,22 Y1

log[T*/T*,]=0, m,=0,33
L* =49, T* =332 1
1 application
f range
1y,=18

Iog(AY/AY )

log [AYY) I (AYIY),]

N=36 V=90

LABJNDu9 relative
tristimulus value difference

INTNA Yoe=L*w - ne=100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYY/dY,

dYoo/dY,=4,74, Ao=1,500, ¢=0,42

dYygdY,= 0,007, Az =o,oo
dYsdY,=0,25 V.18, dY=0.16

*
T*,=332 dY,=0,16 dY,/Y,=0,0002 ,*
log[(dY)(dY),]=0, m=0,9>
application
range
1y,=18
Yw=90

-,

Yn=3.6

LABJNDu9 relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,

T*LABINDu9 =[IN[(A 1n+A2nY)J(A 2nA0n)] (Yd/100<Y<=Yc)
(AY/YYAY /Y =(ArtAs Y)Y (dY/Y),]

(AY/Y/(dYIY)=0,94, Ay;=1,500, =0,42
(AY/Y)(dY/Y)=1.00, Ar=0.007. A;=0,0058
(dY/Y% d(dY/\){ =1,25 Y218, dY=0.16

log[(dY/YY(dY/Y),]=0, mu——O 06 1
*,=332, dY,=0,16 d¥,/Y,=0,0092}

1y,=18
=Clp log

application
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YN=3.6

log [(Y/AY) I (YIAY),] LABJINDU9 relative
tistimulus value contrast

CrlCr=(YIRVIYIAY)y . 21w, ” 2 2100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(VY Y(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,05, Ay=1,500, ¢=0,42

(Y/dY)/(Y/dY)=1.00, Ar=0.007. A=0,0058
(Y/dY%vd(Y/dY =0,79 Y,~18, d\=0.16

log[(Y/dY)(Y/dY),]=0, m,=0,06
-

-—— W
T*,=332 dY,=0,16 Y /#7107 1 —
1 application
1 range
'y,=18
Yy =90

YN=3.6



